B R Th O NPT

Ear QI NI, SR A R A LR, RAFK A S, At AL
A AR B, AR 1 A R M A iy o A AE GRSk TR, R O A BT B
JUL T TAERT, AN TR B KBIRA 2. B af e, AL iy JIER
T, Ggih A CPTRIRE RIS, MEMATICR . QIR /SR, Lo 4 A i UE IR
THAE SRR LIER S 2. EWE A CMPNEr—l, VOB HEpmEm . &
GEAE— SONAT L B AAElE L, S P el o EP ) Dl HLAT SRR AOAEAR, HErp s —BRSR
PR o HERZ TR LR T, BiRE . b RV TGRS &, AT AR R AR
AR A AR R 5 AN T DUHZ R M P 4 R 1, I 240 T i, baw
T FE G e i AT S22 At T 3, AR T A RIAN 552 b T B PR 79 ol 2026 £ AR T o X B3 AN 24
My b2, XA SRIE AT 2 AN A, A AT AL, BUA O B HES,
AL PRI A o

1. WHMEEMT A aEH? (B1=: 36

FRATTRAE MY R G A SR PR AN A 2 s T e 1 AR TS He bt o

2, TR ETRREAIEINLEA 42 (BI=: 5 FF+DH. 13-14

i

AR OB, %% 1 SR I BRI R, SR AT

C

3. WHMEENFERETH=10? (fI1=: 6; AE—: 16)

PARIIIERR ., TR H RIS AR A LR, 2T RS AR

4. EwERaEEHHtA? hohmEfta? (B1=: 89

GEUTHE N B, SRBIOHEE, AUA TR KL L BB, AT Al 2 . (H
e b R, A E g R, FEROR AL, 2 AL FOE B . fRi1kE T B
AIBCARFIOR T, (S BATR T R HIAUA M R S0iH: JF HARGE Ot bl , R AR 3. i
TR G TE B BEEPTELRN, SERR AT — S AR A R L



5 RF—MANBRHIBIE S BRI RE, X2 2B ? (F=: 1019, 23)
A (1075

B (117

C (1)

D (129

E (127)

F (13-1479)

G (15%)

H (16 31

I (1775

J 8

K (237

6+ RN A RLFTAITRKER, WAME2RERE LFHEETE? (Ft+i: 20; B

+: 10; Zy5N: 44

7. Ak, SMAEHBEMtA? (B 4

e bR, BTN R R, ST AR, AR, kE|E
I 2 B AIREE, A e R, B TIRAEIR TR B GeREN, 2
e b A AR B AR B RS

8. BMTREBITHMATUAERE? (F=: 89; £=: 5)

9. BAMRBEFEMITAERG? On=: 21, F=: 20)

10, REXAEMBBMTH A RIE? (HE=: 6; RET—: 15



1. HEREMEfA? (F=: 19-20)

12, #E[IHA]F, AREAFBERACHEETM EFREBREFMRIR? P+t 1D

13. ERBRpEHHRA4? (K—: 20-23; AZ=: 5)

14, MELELAMEEFERIRERR? (4—: 29)

XL URRAVEYR B ar & T 0. HRSRA AR A2, Wl T L. (HAREIY T
OB A ARAT, A AL T A 5

15, DAEREREIIMERSS, ERZMMRIMELFG?  CRL: 13-14)

A 029 L E e ] DL ik 3 A 0 75 2 RCTE o HISSR B4 PR SR D) AN AR o SEAE I
|SES LR Y aE N
16, TFRHERSEABRNIBET 4?2 (FHET=: 24; =: 13; F5N: 6-7)

A

R, BATIGNE, HRERARONE, AOUEEAIGFLUREE, SBEAERAIMNIEE . B A i
FR TR K
17, fra 2B ERER I ML BT LA SEBLI B 2] 2 CRJ\: 8-12; ZitN: 26-27)
A (10 7))

B (10 )



C (113N

D (127

E (26 %)

F (2675 (2771

18, FAVERA BRI MHA? ([E=: 19; B+ 9-10)
A

B

19, ERERAAAREIAE? (H=: 16-17)

20, MR EWREAI? (A= 1819)

i Tl A B HREREL R, R E . WERAAIANE L ISR, S B o)
LRSS eE

21, BN, SHMA%RT CRIFE: 41 Bit: 12:15)

22, FwHBERMHA? (WE=: 9

HH&: (FH: 9 —: 4



